% 513DG/DGL

 RIIBERREEE - |
EWE . SEEI5E
HEISIEE

‘ DXSM | DXSL
EEE
@10 ~ @16 ~ @20 ~ @25 ~ G322
=R
1.05MPa (10.7kgf/cm?)
RAXERED 0.7MPa (7.1kgflcm?)
@10 ~ @16 0.1MPa (1.0kgf/cm?)
RIEERY e 0.05MPa (0.51kgf/en?)
@10~ @20 30~700mm/s
i @25 ~ @32 30~600mm/s
ERRE -10°C ~ +B0°C (REKEAKAREE)
fiaih HAGH
10 ~ @20 M5EX0.8
EEOE @25 ~ @332 Rc(PT)1/8"
TIEAREE HHEAEITE0~-5mm
Bl A Eama | s
EE ity 26 B 2 4B &
T s
EEmAE 'Gﬁ'gh@ TE-Z273
H TE-Y59A
E G16 TE Y?P 2 2@
P zzg
L MR ESRE5.01 -
E @32

'3 16.01



(N)

EREN(MPa)

DXS (110 5 ouTt 167 16.7 31.4 47.1 62.8 78.5 94.2 110
IN 100 10.0 20.0 30.0 40.0 50.0 60.0 70.0
OXS (118 8 ouT 353 35.3 70.6 106 141 177 212 247
IN 252 25.2 50.4 75.6 101 126 151 1786
out 628 62.8 126 188 251 314 377 440

DXS [120 sl
IN 471 47.1 94.2 141 188 236 283 330
out 982 98.2 196 295 393 491 589 687

DXS [125 12
IN 756 75.8 151 227 302 378 454 529
out 1608 161 322 482 643 804 965 11286

DXS [132 pls]
IN 12086 121 241 362 482 603 724 844

* EERHHNINI=[EI(IMPa) X ZEBEREImm?)

EER
S - (kg)
B % BETRE(mm)

60 75 100
DXSM10 0.25 0.28 0.33
DXSL10 0.25 0.28 0.33
DXSM16 0.39 0.435 0.51
DXSL16 0.41 0.435 0.53
DXSM20 0.585 0.65 0.74
DXSL20 0.605 0.66 0.75
DXSM25 0.89 0.97 1.10
DXSL25 0.885 0.98 1.11
DXSM32 1.58 1.71 1.93
DXSL32 1.595 1.72 1.94

T, BETE(mm)
100 125|150 |175 | 200
DXS 110
DXS (116
DXS [(J20
DXS [ 125
DXS [132

3 16.02



A B me=Es0 mnERENE  SRERFBNERL -

W EERE

EAEE(mm/s)

{TE(mm)

O KFRHE

{TE(mm)

EAEE(mm/s) T

200 UF | 400WF | 00T | 700 (80OIMF
ZEPTE
(A) (B) (C) (D)
L
@ M+

? f {T} " * BSH TSR -

10 LF 30BLTF 50BLTF 75LBLF 100BL7F
400 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 400 400
LA E MF LA E T | ME KT A E MUF M

(E)

(F)

(B) (H) (n ()} (K] (L)

* @10 ~ @32 HIHmEREDHIS - @10 : 800 mm/s LT + @16 - @20 : 700 mm/s BIF : @25~ @32: 800 mm/s LT

A =

RREBKEZE - MelEREEEHBISFDIVE -
FRATHNANRETEEBEBITE - @SfEiREasEEIL
REIMVEEEt - BLURERFSEBETENRE - L K
E#{TFEL = (Stroke) + K +L

K = BUREHR 69 AR i 2 oIl B9 BE R

KL | K
@10 4 mm
@16 5 mm
@20 & mm
@25

@32 8 mm

'3 16.03

o
® o

EHEADXSM10X10MEL =15mm
EH#ETEL = 10+4+15 =29
Hit - itehiEE SRR EZEIZEDXSM10X30




& B I/ % o m I

TWIN-ROD CYLINDER

) EEZE 010~-032

(A) V=200 mm/s (B) V= 400 mm/s (C) v= B00 mm/s
al 2
3 .
N e o
\\ Y 1
- ) - \: ~ N1 925 k\ @20
3 N s\\\. AT - @32 @ : i = 3 @20 QD.EI =
E M EET \\‘\“SR\ E 5 S B N i E \‘
1 ™ SN es 0.5} W - —— \]Ma
= ’F\‘?T—%E%i'lmn = SN N = N
i - . M
08 = -~ ‘]ﬂ‘lﬂ b \ ]
‘\\ . o \
~ N @10
- N{{Joro =B \]m ——-p& N
R 20 30 4050 100 el 20 80 4050 100 - E—Ty 20 @0 4050 100
{8 Ltmm) B Limm) fiEH Limm)
(D) V=700 mm/s (@10 : 800 mm/s)
06 220
= 218

\ @10

Ly N

- —-Dx§
PO i
5 10 20 30 40 50 100
fEH Limm)

) IKFZ25E 210~232

(E) V=400 mm/s l{F:10st J{F (F) V= 400 mm/sBAL s 10st T (G) V= 400 mm/s L F:30st LITF

| ——O%EM
3 o oxXEm 2 —
‘I_\ T—%&" T e Ox5L
Ly
! - : ) %\\.\Q ~
=0 — - NS e e ] L NN S ~—
2 \\\@ :\..: S —, 2 \‘\C\\:\.___ "'-..‘:__-:_“ - 2 ‘\\\\:Qx‘_\"-‘-‘.:_:: o5
£ k) —— B = ~ =~ — s E ar ==
i# RN """:::'":-:;:m a1 S “‘%é“““ — 0.1'\.\.\?“\-\ S h?"::-—“'-—-w
i 0. 1 = S = —] Jo = AN N~ T
| ——— - 0. B ——— T - 0.05 “\ ‘.:h el L
0.05) \\.\_ == 1 @16 ~_] = ' s LN s P - ——e%
— === \“'-. Tt - - B =
— [~
— ]510 — |s|o ~ o
001 = 0o om \:-—jm
0 20 20 &0 80 100 0 20 a0 80 8o 100 o 20 a0 B0 80 100
{BH Limm) {EitH Limm) B Limm)

(H) V=400 mm/sBAE;30st U T (1) V= 400 mm/s{F:50stLlF (J) V=400 mm/sBAE ; 50st U F

2| — T mxam 2 —L s
- — - -OXBL q — e
1 N e
LAY

G \\\\ XN —— = \: \:\\‘-.. —
£ [\ o \""‘_\ — 2 _} }\ NS —
E = 32| = ~ = —
= X\ N'-‘-‘-..-:- — = 0.1 \ \N&:‘@ —_ i

N\, .
Y

N
RS e s B -.‘"'E:m
N e -~ NN e ——
\\ = \_‘::-_ B— —— 71 \\ = —~—~ ] @20

- =
“ ~ - A, ~ =
M i 218 M d @16|
<~ ~F- —1] <~ T~k — ]
o e~ P o ~ el
" 20 20 B0 80 100 o 20 20 80 8o 100 o
{8t Limm) fEH Limm) {BH Limm)

(K) V=400 mm/sBAE:75st U F (L) V= 400 mm/sBAE ; 100 stlIF

2 —mEMm 1ﬁ ——CaM |
. JR— % - -~ -DWEL
NG
o W |, AR Y
- e
& \{}\\ SO AN
= \\ \\‘\- it 50.‘_\\\ \\ I~ %%__!:
P AR NN TS S=ton e 032
SN B =
N e = = —l N - | —— a5
[ W i — = s ~ -
N =~ i a0 S ]
-~ - — ~dJ - @20|
\ = e -...\-. =
\ ‘10 “‘h = “"1-
\ - --.._____]mn -: ‘]ms
0.0 20 =~ O.U'ID

40 BO 80 100 20 40 B0 BO 100
B Ltmm) B Limm) . 16.04



DXSM/DXSL 10 DXSM/DXSL 16~25

N S R

é DXSM

e

@/gu

a2 2/

B
1O ——— — ]
N | w0 ol
O & -—i-
L —1 nﬂmr — UG
e re L]
_¢_ DXSL

Jddd b
—

g ﬁa ¥ B |¥£i W =\ | # B
o E“ﬁﬁﬁwﬁﬁﬁ [15) £ 58 IR0 1
=) %% BEesEEBIERE 2 ¢ BER BENE 1
(3) Fil= EESEEBEERE | 1 [17) BE IR i 8 =
2 SEER SUS303 2 & 3= POM 2
(5 E =as 2 ® SRk - 4
[6) RRESEE =Es 2 g ORVIE NBR 2
Q BIER BEEBEERE 1 D i R POM 2
&) W & R ] 2 - EERA B 2
(o] 2B mmE NBR 2 ® BiE BESTEBERE | 2
o Ee e NBR 2 - ® S (5 | sBoswEsmEE| 2
1) OBLEE NBR 4 ® R - 2
[12) ORIIE NBR 2 [4) ORIE NBR 2
& LEI0E SK5M 4 L5} SEER RIS R 2
T | ASEIER i 8 1

o
—
o
o
5



& B I/ % o m I

TWIN-ROD CYLINDER

DXSO10~16

A
L
i
[
T
G0,2
c
©)

MAXOTX LG
"—/ —E—I \ﬂ'—‘l Max0,7(A MR
(L) (Z)
ViaE#m2H)
MEsNEz)

AR I

Il
R \WESHE27) | Y
EEMO0

(L) @)

2-93.48% 4- 2-
2-M3X05 2-M3X05
DXS[110(46)17|44{15(7.5(2-M4X0.7|35(20|4| 8 [20(2-88. 541 . | #6358} 713157 " IM5X0.8 (9.5 M4X0.7
24 S | R45 %8
204,385 4 2-
DXs016(58/20(56]18| 8 [2-Msx0.alasi2s|s|10[30| 2-e8tts1 |2 M4X07| 46|48|10|10/38.5*M4X07IM5x0.8| 9 |M5X0.8
F4.4 A6 A6 | F45 %8

DXSO10 [65(70|75|80|85|95(105/115/130[155] 30 40 50 60 (82|87 |92|97 (102|112

DXSO16 [70|75|80|85|90 [100|110]120[135[160| 25 35 45 55 (8994 |99 104|109|119|129| 139|154 | 179




~

CFIANT
SNEIRS®R
DXS[O 20~32 - z -
B J__K ss
S R i oL z . M
! : /
B — i ——
LA rEr [
< --—-i—--i‘i o 8 =T -—i —————— -@ ------- ——4 o >
7@% B ;
x /e \ ram /- A A
L. N/ QO(MMRE) PP MEME)
(L) | Z) V(EEEmIA)
S e TE e
e T e = 2
R \UU(ESEER) |_u_|
(ESRAO®)
L) )
e =
[ R ——— — ‘}_ _____ RN
_% ______________ Q== I
9] e
Az |A|B|C|D|E F GIH|I|J|K]L M N NN o0 | P

2-p5EZ 2-M4Xx0.7
2-99.541 » 5.3 ZE6

2-96.98% 2-M5X0.8
DXSO25/80|30| 78| 28] 14 |2-M6X1.0|60|35 |6(12/12|30 o g1 ®6.3] F7.5 g12| MBX1.0 | 64
2-96.988%F 2-M5X0.8
2-g1 144 » 6.3 #*10

DXSO20/64 | 25| 62| 23|11.5|2-M5X0.8|50 (28 |6(12|12|30 10| MBX1.0 | 53

DXS[32|98|38|96( 36| 18 |2-M6X1.0| 75|44 (8|16|14|3

o

g16 | MBX1.25 | 76

B3\ PP Q |@G@| R [ T|TTr | U uu Vv Y w
DXSO20| M6X1.0 |7.75|12.5| 45 |9.5| 6.5 [10.5|4-M5X0.8%4.5| 8-M4X0.7%6 | 51| 2-M6X1.0:%10
DXSO25( M6X1.0 | 85 | 15 | 48 [13| 9 | 10 | 4-PT1/8'#6.5 |B8-M5X0.8 F7.5|62 | 2-M8X1.25%12
DXSO32|M8X1.25| 9 | 19 |57.5(/20|11.5|10.5| 4-PT1/8"#6.5 | 8-M5X0.8i%7.5 | 74 | 2-M8X1.25)%12

DXSO20 |80 |85 (90|95 [100|110{120|130(145(170, 30 40 60 |104(109]|114|119 (124|134 | 144 | 154|169 | 194

DXSO25 |82 |87 (92|97 |102|112(122|132|147(172| 30 40 60 |106(111]116|121(126|136 | 146 | 156| 171|196
DXS[O32 |92 |97 [102/107|112)122]132|142|157(182| 40 50 70 |122(127]132|137 (142|152 | 162 | 172 | 187 | 212

3 16.07



